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• ke = âhe Ùee  pe eBÛe  k eâ j  ue W efke â F me  Øe Mve -he $e  ce W c e ge fõle  he =‰ 16 leL e e            
Øe Mve  18 nQ~ 

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

18 questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s k eâes[ vecy ej le L e e mesš  ke âe s Úe$e  
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙe  
e fue Ke W~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : B 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 

Don’t leave blank page / pages in your answer-

book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 

Candidates must write their Roll Number on the 

question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , h ejer# ee ke s â Gh ejevle Fme mecy evOe ceW k eâesF& Yeer oe Jee mJe erkeâ ej 
veneR efk eâÙe e p eeÙe siee~ 

  Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 

mee ceevÙe  efveoxMe : 

 (i) me Ye er ØeMve  De efveJe eÙe& nQ~  

 (ii) Ø e lÙe ske â  Øe Mve  k es â De b ke â  Gme ke s â  me ec e ve s oMe e&S  ieS  nQ~ 
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 (iii) Ø e Mve  me b KÙ e e  1 ce W y eejn (i-xii) ye nge fJ e ke âuh ee rÙe/S ke â  Meyo Jee ues 

Ø e Mve  nQ~ Øe lÙ e ske â Øe Mv e  ke s â e fueS  1 De b k eâ nw~ m ene r G òe j De h e ve er 

G òe j  he ge fmle keâ e  ce W efue Ke W~ 

 (iv) Ø e Mve  me b KÙee  2 me s 10 le ke â  De e fle ue I e g G òe je rÙe  Øe Mv e nQ~        

Ø e lÙe ske â  Øe Mve  2 De b ke âe W ke âe  nw~ Ø e lÙe ske â  Ø e Mve  ke âe  G òej  ue ie Ye ie      

30 Me yoe W ce W oe re fpeS ~ 

 (v) Ø e Mve  me b KÙ ee  11 me s 15 le ke â   ueI e g Gòej e rÙ e  Øe Mve nQ~         

Ø e lÙe ske â  Øe Mve 3 De b ke â eW ke â e nw~ Øe lÙe ske â Ø e Mve  ke âe Gòe j  ue ieYe ie        

40 Me yoe W ce W oe re fpe S ~ 

 (vi) Ø e Mve  me b KÙ ee 16 me s 18 l e ke â  oe rIe & G òej e rÙe  Øe Mve nQ~         

Ø e lÙe ske â  Øe Mve 5 De b ke âe W ke âe  nw~ Øe lÙe ske â Øe Mve  keâ e  G òe j ue ie Ye ie 70 

Me yoe W ce W oere fpeS ~ 

 (vii) Ø e Mve-h e$e  ce W me ce «e ™ he  mes keâ e sF & e fJe k e â uhe ve neR nw~ le L ee e fhe  5 

De b k e âe W Je e ue s le e rve e W Øe Mve eW ceW De e ble e fj k e â Ûe Ùe ve  Øe oe ve  e fke âÙe e  ie Ù ee  nw~ 

S smes Øe Mve e W ce W mes De e he  k e âe s ke s âJ eue  S keâ  ne r Øe Mve  ke âj ve e  nw~ 

General Instructions :  

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated 

against it. 
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 (iii) Question Number 1 consists of twelve (i-xii) 

multiple choice/one word type questions 

carrying 1 mark each. Write correct answer 

in your answer-book. 

 (iv) Question Numbers 2 to 10 are very short 

answer type questions of 2 marks each. 

Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short 

answer type questions of 3 marks each. 

Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer 

type questions of 5 marks each. Answer 

these in about 70 words each. 

 (vii) There is no over all choice. However, internal 

choice is given in all long answer type 

questions of 5 marks each. You have to 

attempt only one of the given choice in such 

questions. 

  1. (i) ( )[ ] 253 ClBrNHCo  peue ceW DeeÙeefvele neskeâj efkeâleves Dee@Ùeve 

osiee : 1 

  (A) 4 (B) 2 

  (C) 6 (D) 3 
  How many ions are given by  

( )[ ] 253 ClBrNHCo  complex in water ?  

  (A) 4 (B) 2 

  (C) 6 (D) 3 
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 (ii) COONaCHCHCH 223  keâes mees[eueeFce 

)( CaONaOH +  kesâ meeLe iece& keâjves hej neF[̂eskeâeye&ve Øeehle 

neslee nw  :   1 

  (A) yÙetšsve (B) Øeeshesve 

  (C) nskeämesve (D) SLesve 

  When COONaCHCHCH 223  heated with 

sodalime )( CaONaOH + , the hydrocarbon 

formed is :  

  (A) Butane (B) Propane 

  (C) Hexane (D) Ethane 

 (iii) meg›eâesme kesâ peue DeheIešve mes yeveves Jeeues GlheeoeW kesâ veece 

efueefKeS~   1               

  Write the names of products when sucrose 

is hydrolysed.  

 (iv) DeYebpeveerÙe yele&veeW ceW efkeâme yenguekeâ keâe GheÙeesie neslee nw ? 1 

  (A) Heâervee@ue-heâecexefu[ne@F[ 

  (B) šsheäuee@ve 

  (C) cesuewceerve-heâeces&efu[neF[ 

  (D) cesuewceerve - heâervee@ue 
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F&Lej 

  The polymer which is used in the 

manufacture of unbreakable crockery : 

  (A) Phenol-Formaldehyde  

  (B) Teflon 

  (C) Melamine-Formaldehyde 

  (D) Melamine-Phenol  

              ClCHCH 22  

 (v)                               keâe IUPAC veece efueefKeS~  1 

                                               ClCHCH 22  

  Write IUPAC name of  

 

 (vi) ,
/4 ACOOHR

LiAlH
 →    A nw  : 1 

  (A) OHRCH2  (B) 3RCH  

  (C) RCHO (D) ROR 

  ,
/4 ACOOHR
EitherLiAlH

 →    A is :  

  (A) OHRCH2  (B) 3RCH  

  (C) RCHO (D) ROR 
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 (vii) 2-SLee@keämeer-1, 1-[eFcesefLeue meeFkeäueeWnskeämesve keâer mebjÛevee 

yeveeFS~   1 

  Write structure of 2-Ethoxy-1, 1-dimethyl 

cyclohexane.  

 (viii) efvecve ceW keâewve ogie&bOeÙegkeäle heoeLe& yeveelee nw peye Fmes keäueesjesheâe@ce& 

Je SLesveeefuekeâ heesšwefMeÙece neF[^e@keämeeF[ kesâ meeLe iece& keâjles nQ : 1 

  (A) CNCH3  (B) ( ) NCH 33  

  (C) 252 NHHC  (D) 256 CONHHC  

  Which among the following compound will 

give offensive compound when heated with 

chloroform and alcoholic potassium 

hydroxide :  

  (A) CNCH3  (B) ( ) NCH 33  

  (C) 252 NHHC  (D) 256 CONHHC  

 (ix) Øeyeue Decue nw  :   1 

  (A) COOHHClCp 46−  

  (B) COOHHOHCp 56−  

  (C) COOHHC 56   

  (D) COOHHCNOp 462−  
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  Strongest acid is :  

  (A) COOHHClCp 46−  

  (B) COOHHOHCp 56−  

  (C) COOHHC 56   

  (D) COOHHCNOp 462−  

 (x) efJešeefceve C keâer keâceer mes jesie neslee nw  : 1 

  (A) yesjer-yesjer (B) efjkesâšdme 

  (C) mkeâJeea (D) FveceW mes keâesF& veneR 

  Deficiency of vitamin C leads to disease :  

  (A) Beri-Beri (B) Rickets 

  (C) Scurvy (D) None of these  

 (xi) efveDeesØeerve yenguekeâ nw  :   1 

  (A) keäueesjesØeerve keâe  (B) DeeFmeesØeerve keâe  

  (C) mšeFjerrve keâe  (D) SLeerve keâe  

  Neoprene is a polymer of :  

  (A) Chloroprene  (B) Isoprene  

  (C) Styrene  (D) Ethene  
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 (xii) mšeÛe& Skeâ  efceßeCe nw  Ssefceueeshesefkeäšve  Deewj   1 

  (A) heeFjwve keâe (B) Ssefceueesme keâe 

  (C) uewkeäšesme keâe (D) D-jeFyeesme keâe 

  Starch is a mixture of Amylopectin and   

  (A) Pyran  (B) Amylose 

  (C) Lactose (D) D-Ribose 

  2. efvecveefueefKele ceW jsKeebefkeâle keâer DeekeämeerkeâjCe mebKÙee efueKeW : 2 

( )[ ]4CONi ,      
−2

72OCr , 

 +
2OV ,          [ ]

−3
6FCo  

 Find oxidation number of Underlined in the 

following :  

( )[ ]4CONi ,      
−2

72OCr , 

 +
2OV ,          [ ]

−3
6FCo  

  3. efvecveefueefKele GhemenmebÙeespekeâ ÙeewefiekeâeW kesâ IUPAC veece efueefKeS  : 

 (i) ( )[ ]232 NOClBrOHCo   

 (ii) ( )[ ]3423 OCCrK    2 
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 Give IUPAC names of the following coordinate 

compounds :   

 (i) ( )[ ]232 NOClBrOHCo   

 (ii) ( )[ ]3423 OCCrK  

 

  4.             Je           ceW mes efkeâmekeâe ieueveebkeâ DeefOekeâ nw Deewj     

keäÙeeW ?  2 

  

 Among             and                    which has  high  

  

 melting point and why ?   

  5. efvecve keâes heefjYeeef<ele keâerefpeS  : 2 

 (i) GhemenmebÙeespeve mebKÙee 

 (ii) mecevJeÙe ceb[ue 

 Define the following :  

 (i) Coordination number 

 (ii) Coordination sphere  

Cl 

Cl 

Cl 

Cl 

Cl 

Cl 

Cl 

Cl 
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  6. mJeešd&me DeefYeef›eâÙee keâes mecePeeFS~ 2 

 Discuss Swarts reaction.  

 

  7. 
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 A Je B GlheeoeW keâer mebjÛevee efueefKeS~ 2 
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 Give structures of A and B products.  

  8. legueveerÙe DeeefCJekeâ õJÙeceeveeW kesâ neF[^eskeâeye&veeW keâer Dehes#ee Ssukeâesne@ue 
peue ceW DeefOekeâ IegueveMeerue nesles nwb~ JÙeeKÙee keâerefpeS~ 2 

 Alcohols are more soluble in water than the 

hydrocarbons of comparable molecular masses.     

  9. Øeesšerve kesâ meboYe& ceW efvecveefueefKele keâer heefjYee<ee efueefKeS  : 2 

 (i) heshšeF[ yevOelee 

 (ii) [ervesÛegjsMeve (efJekeâ=eflekeâjCe) 
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 Define the following terms in relation to    

proteins :  

 (i) Peptide linkage 

 (ii) Denaturation  

10. heâervee@ue SLesvee@ue mes DeefOekeâ DecueerÙe neslee nw~ JÙeeKÙee keâerefpeS~ 2 

 Phenol is more acidic than ethanol. Explain.   

11. DeblejekeâeMeer Ùeewefiekeâ keäÙee nQb ? Fvekesâ meeceevÙe DeefYeue#eCeeW keâes     

efueefKeS~ 3 

 What are interstitials compounds. Give their 

general characteristics.  

12. Ûeleg<heâuekeâerÙe GhemenmebÙeespeve mecetneW ceW d-keâ#ekeâeW kesâ efJeheešve keâes mhe° 

keâerefpeS~ 3 

 Explain the splitting of d-orbitals in an 

tetrahedral crystal field.  

13. SLesvee@ue kesâ efvepe&ueve keâer ef›eâÙeeefJeefOe keâes mecePeeFS~ 3 

 Explain the mechanism of dehydration of 

ethanol.  
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14. efvecve keâes mecePeeFS  : 3 

 (i) GYeobleer veeefYekeâjeieerr 

 (ii) Demeceefcele keâeye&ve   

 Explain the following :  

 (i) Ambident nucleophile 

 (ii) Asymmetric carbon   

15. jyej keâe yeukeâveerkeâjCe keäÙee nw ? Fmekeâe cegKÙe GösMÙe mecePeeFS~ 3 

 What is Vulcanization of rubber ? Give its main 

advantage. 

16. meb›eâceCe OeelegSB Deemeeveer mes mekegbâue Ùeewefiekeâ yevee osleer nQ, keäÙeeW ? 

GoenjCe meefnle mecePeeFS~ 5 

 Transition metals are well known to form 

complex compounds, why ? Explain with a 

example.    

DeLeJee 

OR 

 SsefkeäšveeF[eW keâer Dee@keämeerkeâjCe DeJemLeeDeeW keâer JÙeeKÙee keâerefpeS~ 

 Explain the oxidation states of actinoids.  5 
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17. efvecve keâe JeCe&ve keâerefpeS  : 1
2
1 +1

2
1  + 2  

 (a) Jeesuheâ-efkeâMvej DeheÛeÙeve 

 (b) keäueercesvmeve DeheÛeÙeve  

 (c) ›eâeme Ssu[esue meIebveve  

 Describe the following :  

 (a) Wolff-Kishner reduction. 

 (b) Clemmensen reduction.  

 (c) Cross Aldol condensation.  

DeLeJee 

OR 

 yesvpeerve keâes efvecveefueefKele ceW heefjJeefle&le keâjW  : 5  

 (a) yesv]pewefu[neF[ 

 (b) yesv]peesFkeâ Decue 

 (c) Ssmeeršesheâervee@ve 

 Convert benzene into :  

 (a) Benzaldehyde   

 (b) Benzoic acid  

 (c) Acetophenone 
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18. (a) efvecve keâe JeCe&ve keâerefpeS  : 3 

  (i)     iewefyeÇSue LewefueceeF[ mebMues<eCe  

  (ii) Ùegiceve DeefYeef›eâÙee  

  Describe the following :  

  (i) Gabriel phthalimide synthesis 

  (ii) Coupling reaction  

 (b) Ssefveueerve Je cesefLeueSsceerrve ceW mes efkeâmekeâe pkb ceeve DeefOekeâ nw 

Deewj keäÙeeW ?   2 

  Among Aniline and Methylamine which has 

higher value of pkb and why ?  

DeLeJee 

OR 

 (a) efvecve DeefYeef›eâÙeeDeeW kesâ cegKÙe Glheeo efueefKeS  : 2 

  (i)           ?52
|

||

||
→−−−+− HC

H

NHCl

O

O

S  

  (ii)         
NH2

  
→

Base

COClCH3  ? 
#eej 
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  Write the main products of following 

reactions :  

  (i)           ?52
|

||

||
→−−−+− HC

H

NHCl

O

O

S  

  (ii)         
NH2

  
→

Base

COClCH3  ? 

 (b) yesv]peerve [eFSspeesefveÙece keäueesjeF[ keâes efvecve ceW heefjJeefle&le keâjW  : 3 

  (i) yesv]peerve 

  (ii) heâervee@ue 

  (iii) DeeÙees[esyesv]peerve 

  Convert Benzenediazonium chloride into :  

  (i) Benzene 

  (ii) Phenol  

  (iii) Iodobenzene   

  

SSSS  


